

REPUBLIC OF THE PHILIPPINES

ILOILO STATE COLLEGE OF FISHERIES OFFICE OF THE BIDS AND AWARDS COMMITTEE





J.T. Bretaña St., Ilaya Poblacion, Barotac Nuevo, Iloilo 5007 Philippines

Contact No.: (+63) 9652740330

Website: www.iscof.edu.ph / Email: iscof.edu.ph / Email: <a

BAC Resolution Declaring LCRB and Recommending Approval for Notice of Award on Purchase and Delivery of Hot and Cold Kitchen
Appliances

RESOLUTION NO. 12-46s. 2021

Whereas, the Iloilo State College of Fisheries, Barotac Nuevo Campus advertised the Invitation to Apply for Eligibility to Bid for the Purchase and Delivery of Hot and Cold Kitchen Appliances with the ABC of Php 4, 620, 000.00and posted it in Philgeps with ITB No.2021-11-16 and Ref. No. 8188277 and ISCOF Barotac Nuevo Campus Bulletin for 19 days;

Whereas, in response to the said advertisement, three (3) bidders submitted the application for eligibility to bid and were found eligible and passed the preliminary examination of bids on December 1, 2021@ 10:00a.m.;

Php 3, 927,000.00 Php 4, 087, 472.00	15.00 %
Php 4, 087, 472,00	11 529/
- mp 1, 007, 172.00	11.53%
Php 4, 187,160.00	9.37%
	Php 4, 187,160.00

Whereas, on December 1, 2012 @ 03:15p.m. the Evaluation of Bids are as follows:

Php 3, 927,000.00	% Variance from ABC
	15.00 /0
Php 4, 087, 472.00	11.53%
Php 4, 187,160.00	9.37%
	The same state of the same sta

Whereas, on December 3, 2021 @ 3:15 pm. upon careful examination, validation and verification of all the technical and financial requirements submitted by the bidder with the Lowest Calculated Bid, NCO General Merchandise has been found responsive;

NOW, THEREFORE, We, the Members of the Bids and Awards Committee, hereby RESOLVE as it is hereby RESOLVED

a.) To declare NCO General Merchandise as the Lowest Calculated and Responsive Bidder

b.) To recommend approval for Notice of Award on Purchase and Delivery of Hot and Cold Kitchen Appliances

RESOLVED, at the Conference Room, Iloilo State College of Fisheries, Barotac Nuevo Campus, 6th day of December 2021. JOSE S ARICAYA FLOCERPICOA H. DELAONG BACC airman icé Chairman BAC Member RAMON J. BAYONA, JR. TEDDY S. FUENTIVILLA RES P. JANDONERO BAC Member Member BAC/Member BAC Member

LIZA D. BELANDRES Ed.D.
OIC, President
Approved on:



REPUBLIC OF THE PHILIPPINES ILOILO STATE COLLEGE OF FISHERIES OFFICE OF THE BIDS AND AWARDS COMMITTEE

J.T. Bretaña St., Barotac Nuevo, Iloilo

5007 Philippines





NOTICE OF AWARD

May 16, 2022

NELSON L. OCAMPO

CEO/President NCO General Merchandise General Luna St. Brgy. No. 14, Santo Tomas, Laoag, Ilocos Norte

Dear Sir:

We are happy to notify that your Bid dated December 1, 2021 for execution of NCO General Merchandise on the of Purchase and Delivery of Hot and Cold Kitchen Appliances (Solicitation No. ITB2021-11-16/ Ref. No.: 8188277) with a Contract Price amounting to THREE MILLION NINE HUNDRED TWENTY-SEVEN THOUSAND PESOS (Php 3, 927, 000.00), is hereby accepted.

You are hereby required to provide within ten (10) days the performance security in the form and the amount stipulated in the Instructions to Bidders. Failure to provide the performance security shall constitute sufficient ground for cancellation of the award and forfeiture of the security.

Very truly yours,

NORDY D. SIASON JR., Ed.D., CESO VI

SUC President II

Conforme:

Representative, NCO G



REPUBLIC OF THE PHILIPPINES ILOILO STATE COLLEGE OF FISHERIES

OFFICE OF THE BIDS AND AWARDS COMMITTEE

J.T. Bretaña St., Barotac Nuevo, Iloilo 5007 Philippines

Contact No.: (Tel/Fax) (033) 339 7370 or 327-5062 locals 1010-1032 Website: www.iscof.edu.ph/Email: iscofbn-bac@iscof.edu.ph/iscofbncampusbac@gmail.com



Iloilo State College of Fisheries

Revised on: August 11, 2004

Reference Number: 8188277

Purchase and Delivery of Hot and Cold Kitchen Appliances

NOTICE TO PROCEED

May 18, 2022

NELSON L. OCAMPO

CEO/President NCO General Merchandise

General Luna St. Brgy. No. 14, Santo Tomas, Laoag, Ilocos Norte

Dear Sir:

Very truly yours

The attached Contract Agreement/ Purchase Order having been approved, notice is hereby given to NCO General Merchandise, that the Purchase and Delivery of Hot and Cold Kitchen Appliances may proceed to Iloilo State College of Fisheries -Barotac Nuevo Campus, J.T. Bretaña St., Barotac Nuevo, Iloilo with Solicitation No. ITB2021-11-16/ Ref. No.: 8188277 upon receipt of this notice

You are hereby responsible for performing the services under the terms and conditions of the agreement and in accordance with the Implementation Schedule.

Please acknowledge receipt and acceptance of this notice by signing both copies in the space provided below. Keep one copy and return the other to Iloilo State College of Fisheries -Barotac Nuevo Campus.

NORDY B. SIASON JR., Ed.D., CESO VI SUC President II

Conforme:			
Representative, I	NCO GENERA	A Jay L MERCHANDISI	F
Date:			

PURCHASE ORDER ISCOF BAROTAC NUEVO CAMPUS

Entity Name

Supplier:

NCO GENERAL MERCHANDISE

Address:

Brgy. 16, General Luna Street, Laoag City

TIN:

932-558-166-000

P.O. No. : Date:

22

Mas

Mode of Procurement

Gentlemen:

Please furnish this Office the following articles subject to the terms and conditions contained herein:

Place of Delivery: ISCOF BAROTAC NUEVO CAMPUS Date of Delivery:			Delivery Term : 30 Days Payment Term : 30 Days			
-		T				
Stock/ Property No.	Unit	Description	Quantity	Unit Cost	Amount	
1	Unit	Commercial Reach in Refrigerator Stainless Steel with Glass Door Display 2 Door • 2 Door Upright Glass Door Display Chiller	3	180,000.00	540,000.00	
		with 4 Caster Wheels & Brakers Product Dimensions: 1260mmL x 730mmD x 2060 mmH • Volume Capacity: 976 • Liters Shelf: 10Pcs.		7		
		 Features: Full Auto Digital Temperature Controller, Auto Defrost Function, Fan Convection for even Cooling 				
2	Unit	Temperature range: + 1C to + 6C Commercial Deck Oven • Stainless Steel Heavy Duty 3 Layer Gas Deck Oven	2	65,000.00	130,000,00	
3	Unit	 - Voltage 220 Volts Heavy Duty Planetary Dough Mixer 20 Litre Bowl Volume Capacity 	2 ,	78,800.00	157,600.00	
		 Adjustable 3 Speed Gearbox Smooth Lever Lift Operated Action for Raising and Lowering the Bowl Powerful 1100 Watt Motor Easy Operation & Cleaning; Safety Stop High Quality Cast Body for Durability and Stability Includes Free Dough Hook, Beater and Whisk 118/234/460mRPM Speeds Fixed Head with Lift up Safety Guard CE certified 				
4	Unit	 Commercial Reach in Freezer 49 cu. Ft. Reach in Freezer Double Solid Doors Recessed Door Handles 	2	147,200.00	294,400.0	
		 Door Locks Forced Air Refrigeration System Top Mount Compressor Stainless Steel Exterior & Interior Digital Microprocessor & Read Out ETL, cETLus Listed 				

	Unit	Espresso Machine-2 Group	2	48,800.00	97,600.00
5	Unit	• Group 230V / 50-60 Hz, 3300 Watts	2	48,800.00	
		Dimensions: 710 x 510 x 510mm - 2 Steam Taps			
		-			
		and I Hot Water Tap - 70L/hr			
_		Rotary Pump - Security System against Lack of			
1		Water - Electronic Microprocessor: 5			
		• Copper Boiler, IIL			
		Capacity-Delivery with 1 Filter Holder 1 Cup			
		per machine and Filter Holder			
		• 2 Cups per Group	2	83,500.00	167,000.00
6	Unit	Commercial Food Processor	2	05,500.00	
		• Includes Stainless Steel "S" Blade to Chop,			
		Grind, Puree and Mix withshredding Dics, 5/64			
		Grating Disc and Detachable Disc Stem			
		• Includes Compact Flat Cover for Convenient			
		use and Storage			
		Clear Bowls, ClearCommercial Grade HP High performance Motor			
		•			
		Super-Large Feed Tube120 VAC, 60 Hz, 5.2 Amps			
		• UL, ETL Sanitation Listed			
		• 15.25" H x 7" W x 9.3." D			
7	Unit	Ice Cream Maker Machine	2	79,400.00	158,800.00
,	Oiiit	• Item Weight: 2.53 kg.			
		• Product Dimensions: 20 x 20.3 x 23.5 cm			
		• Capacity: 1.50 Liters-2.0 Liters			1
		power/ Wattage: 12 Watts			
		Noise Level: 60d B			1
		 products is BPA Free, Inner Bowl 			
		• Size: 18cm Diameter: 15 cm High			
		• Cord Length: 1.2 cm			
		●Voltage: 220			525 000 00
8	Unit	6 Burner Gas Range with Double Oven	3	175,000.00	525,000.00
		•Dimensions: 1220mm Length x 90mm Width x			
		850 mm Height			1
		Back Splash: 120mm			
		Net Weight: 155 kg G. B. S.			
		• Gas Requirement:			
		Burner Type - Low Pressure-2800 Pa			
		• Fuel-LPG			
		Burner Rating (TOP Burners) 163,619 Btu/hr		-	
		Burner Rating (Oven) - 19,800 Btu/hr			
		Standard Construction Features:			
		Stainless Steel Construction			1
		Heavy Duty Cycle			
		 Heavy Duty 29.3 MJ Burners 			
		Open Burners with Thermocouples			
	Ε.	Pilot in Oven			
		• Oven takes 2 x Full Size 6N Pans			
	1	• Flat Heavy Duty Trivets			
	L				

Consideration and a consideration		The state of the s			
		 Stainless Steel Drip Pans Auto Ignition and Flame Failure Shut Off Natural and LPG Gas Castors with Brake Sturdy Adjustable Feet 			
9	Unit	Dishwashing Machine Power: 3.5 KW Dimension: 600 x 600 x 820 MM Electric: 220V, 60HZ Single Phase One Key Operation	2	288,000.00	576,000.00
10	Unit	 Failure Alarm Display Double Skinned Cabinet, Heat Preservation and Noise Reduction Detergent Dispenser and Rinse Aid Dispenser Included Max Hourly Capacity: 40 Racks Inner Size: 500 x 320 mm Water Use: 2.5 L/Rack Food Display Refrigerator Stainless Steel Upgrades - 2 Door Glass Front Refrigerator/Display Showcase - Two (2) Lockable Front Doors Exterior Dimensions: 78" Wide 83" Tall x 32" Deep Shelf Size: 24.5" Deep x 22.5" Wide Shelf Quantity - Twelve (12) Shelves Included Latest Energy Star LED White Interior Lights Installed 	3	152,800.00	458,400.00
11	Unit	 Shelf Loading Capacity: 88lbs/Shelf Power Requirements: 110V.60hz (Standard North American Plug) Requires 650 Watts Adjustable Temperature Range. 33 to 44 Degrees F.9 (Digital Thermostant Include) Refrigerator: R-134a (14.1/oz) Heavy Duty Smoker BBQ Grill Lid (Large): 68.5 x 42.5cm Fire Bowl (Large): 68 x 40.5 cm Lid (Small): 38 x 32 cm Fire Bowl (Small): 37.6 x 31.5cm Cooking Grid: 63.5 x 39 and 33.5 x 29 cm Front Pallet: 22 x 57 cm 	2	72,500,00	145,000,00
12	Unit	 Size: 104 x 67 x 120 cm Material: Iron Thickness: 0.8mm Fuel: Charcoal Heavy Duty Solid Top Griller-Electric Heavy Duty 12mm Thick Cooking Surface for Effective Heat Distribution and Retention Sturdy, Fully Welded Stainless Stand with Heavy Duty Facia (Temperature Scale) Design 	2	60,200.00	120,400,00

	т	L.C.F.I.C. I. C. I.			
		 Solid Stainless Steel Construction Rear Castors to Easily Move for Cleaning FGE0900 Heavy Duty Solid Top Griller - Electric -900 Specifications: Surface Flat Power: 380V 3P N/50HZ - 12KW Dimensions: 918 x 765 x 1000MM 			
13	Unit	 Grill Area: 914 x 550MM Heavy Duty Double Deep Fat Fryer Heavy Duty gauge of Stainless Steel 	2	15,000.00	30,000.00
		• Top Raised from All Sides to Avoid Oil Spillage - Top & Tanks Fabricated in Heavy Duty Gauge of Stainless Steel			
. 14	Unit	 Each Frying Tank has Individually Tilting Type Oil Heating Elements Oil Tanks provided with Individual Oil Drain Valve-Frying Stainless Steel Wire Mesh Baskets Provided with Insulated Handles Height Adjustable Bullet Feet 3 Liters Commercial Meet Slicer Semi-Automatic Sharpening Control Buttons for Controlling the Whetstones to Sharpen Two Sides of the 	2	55,000.00	110,000.00
15	Unit	Blde Easily Fixed Device Handle for Pushing the Fixed Meat to Slice Moving Handle and the Fixed Device Handle Compose of Dual Handles System to Slice Meat Efforthlessly Slice Thickness Adjustable Fashion Tilted Design for Fast and Laborsaving Slicing Heat Output Holes Under the Meat Slicer to Disperse Heat Easy to Clean and Maintenance Low Noise level Material: Aluminum Body Heavy Duty Electric Stand Mixer with Complete Accessories Wattage (W) 315 Motor Type-AC (Alternation Current) Horse Power - 0.26 Voltage (V) - 220 -240 Frequency (Hz) 50/60 Electrical ConnectionRating (W) - 315 Max Rotation Speed (rpm) - 265	1	35,800.00	35,800 00
		 Max Rotation Speed (rpm) - 265 Min Rotation Speed (rpm) - 60 Max Quantity of Flour (kg) - 2 Body Material - Die-Cost Length of Cable (cm) - 140 			

		Electrical Speed Control Present - Yes	T	T	
1		• Product Height (mm) - 411			
1		• Width of the Product (mm) - 338			
			1		
		• Depth of the Product (mm) - 264			
		• Packaging Height (mm) - 490			
		• Packaging Width (mm) - 390			
		• Packaging Depth (mm) - 310			
		Material of Mixing Bowl - Stainless Steel			
		• Net Weight (kg) - 12			
		• Gross Weight (kg) - 13.4			
		• Pie Crust: kg of Flour - 0.5			
		Max Quantity of Egg White - 12		1	
		• Max Quantity Whipped Cream (L) - 1		1	
		• Max Quantity of Cake (kg) -2.7			
16	Unit	Commercial Rice Steamer	2	85,000.00	170,000.00
		Type High Temperature Luxury Steam Cabinet		1	
		Material: Stainless Steel			
		• Size: 670*525*1055mm/	1	1 1	
		1215mm/670*525*1375mm/670*525*1535mm			
		Surface: Stainless Steel			
		 FirenProof: Surface High Safely Standard 			
		Model: DMD-PHY-10			
		Power: 12KW			
		• Voltage: 380V			
17	Unit	Meat Grinder	2	39,600.00	79,200.00
		• Power: ½ HP			
		• Dimensions: 480 x 260 x 280 MM			
		Electric: 220V,60HZ,1P			
		Commercial Grade	1		1
		Stainless Steel Material	1		
		Powerful Motor	,		
		• Forward and Reverse Function			İ
		• Includes 6mm,7.5mm,9mm and 12mm Mesh			j
		and 4 Blades			
		• Capacity: up to 200 kg/Hour	1		
		• Includes Sauges Tube and Pusher			
10	0.5	* Only Used ofr Chilled Meat	2	15 000 00	00 000 00
18	Unit	Breed Proofer	4	45,000.00	90,000.00
		• Type: 2 Door, Manual			
		• Type with Humidifier 32			
		• Trays Proofer Product			
		• Dimensions: 1068 x 785 x 2050mm			
		• Capacity: 32 Trays			
		Features: Water SupplyConnected: 32 Trays			
1		• Connected: 32 Trays • Capacity: Adjustable		1	
1		Humidity Control Power: 2000 Watts/ 220V / 1	PH		
		Multi-Function Manual Sealing Vacuum			
19	Unit	Packaging Machine	1	41,800.00	41,800.00
		• Voltage: 220/60			
		Motor Power: 900w			
		- Motor Foret. 200W			

	T	6 11 =				
		• Stealing Power: 500				
		Ultimate Vacuum Pre	essure: 1 kpa			
		 No of Steal bars for l 				
		• Chamber Size: 510 >				
		• Stealing Length: 41	Onim			
		• Stealing Width: 10/2	x 3mm			
	1	• Pump Capacity: 20m				
		Material for vacuum				
		The state of the s	Chamber, 5.5			
(Total Amount	I Wanta	79 1499 19 22				3,927,000.00
		Three Million Nine Hu	ndred Twenty-Seven Thousa	nd Pesos On	ly.	
in case of fail	ure to make th	e full delivery within the ti	me specified above, a penalty of	of one-tenth (I/10) of one perc	ent for every day of
delay shall be imp	osed on the ur	idelivered item/s.				
Conforme				Very truly yo	ours.	
	/		2	. (_		and an internal
		ELSON 1. OCAM	1988	NORDY	D. SIASON JR.	ED D. CESO VI
1	Signatu	re over Printed Name of S	upplier	Signature	over Printed Name of	Authorized Official
>					SUC Preside	nt II
		Date			Designation	
	Ours t	1 1	Malarain Partit			
Fund Cluster:	AULK LOW	d-ofdividing of	HM training facility	ORS/BURS	No. :	
Funds Availabl		Calan	Din 1			
		CHRISTINE C. BA	LAGOSA,CPA	1	-	
	Signa	ture over Printed Name of				
	3	Accounting Div				1